Htaturk Tribute

Words: Kemal Ataturk Music: Ian Hamilton (2007)

1
() 4
S. s - —— S I \ — — S - I PSS N I A 7
e e P—m =1 I — ] —  — o o I D
) o 5o = o=
Those he - roes and lost their lives in the soil of afriend-ly coun try.
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Those he - roes You are now ly-ing in the soil of afriend-ly coun try.
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Those he - roes that shed their blood.___ in the soil of afriend-ly coun try.
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Those he roes that shed theirblood.___ You are now ly-ing in the soil of afriend-ly coun try.
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There-fore rest in  peace, rest in peace, P
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There-fore  rest inpeace rest in peace,
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There-fore rest in peace, There-fore rest
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There-fore rest in peace, n peace.
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